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General Instructions:

1. Duration of Test is 90 minutes and Question Paper contains 60 Questions with maximum 60 marks.

2. Use of gadgets is not allowed.

3. Student should abide by the instructions issued during the examination by the invigilator or the centre
incharge.

4. Before attempting the question paper ensure that it contains all the pages and that no question is
missing.

5. There is No Negative marking.

Correct Method Wrong Method
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EVS (20 Marks)

Q1. Houses with sloping roofs are mostly found in these regions.

(a) Mountains (b) Plains (c) Deserts (d) None of these
Q2.  Which of the following is not correctly matched?
(@) Igloo — Snow house (b) Caravan — House on wheels
(b) Multi storey — Pucca house (d) House boat —Mud house
Q3.  Which of the following is a plant product but we cannot eat it?
(a) Orange (b) Cabbage (c) Rubber (d) Chilli
Q4.  Which of the following can make their own food?
(@) Plants (b) Elephants (c) Lions (d) Pens
Q5. On Gurpurabwegotoa to pray.
(a) gurudwara (b) mosque (c) temple (d) church




Q6.

Q7.

Qs.

Qo.

Q10.

Q11.

Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

Q18.

Q19.

The vehicle that does not use fuel is )
(@) cycle (b) bus (c) car (d) truck

Which is the oldest means of communication?

(a) telephone (b) letter (c) e-mail (d) radio
The Sunis a

(a) moon (b) rock (c) star (d) planet
Which planet is known as the dwarf planet?

(a) Neptune (b) Earth (c) Pluto (d) Venus
The shape of the _ changes every day.

(a) moon (b) earth (c) star (d) sun
Find the incorrect match:-

(a) Cow-herbivore (b) Tiger- Omnivore

(c) Leopard- Carnivore (d) Giraffe — Herbivore

Whale is an animal and a

(a) domestic, carnivore (b) aquatic, carnivore

(c) aquatic, omnivore (d) domestic, herbivore

Who am I:-

Q) | give support to the upper part of the plant.

(i) | am the food store house for some plants.

() stem (b) root (c) leaves (d) flower

Water is formed when:-

(@) stone melts (b) ice melts (c) wax melts (d) paper melts

When the weather stays same for a long period of time it is called

(a) season (b) spring (c) summer (d) weather

Many plants were brought to India from different parts of the world. Now, they are grown
here. These are called plants.

(@) Aquatic plants  (b) Parasitic plants  (c)Exotic plants (d) Insectivorous plants

The name of our Galaxy is
(a) Milky Way Galaxy (b) Andromeda Galaxy
(b) Solar system (d) Comet Galaxy

Mushroom gets its food

(a) from dead and decaying plant

(b) from photosynthesis

(c) by eating small insects which come near it
(d) from the water we pour near it

Houseboats of Kerala are called :
(a) Bhongas (b) Kettuvallams (c) Caravans (d) tent house




Q20. Dark coloured clothes are preferred in winter because these clothes:
(@) look nice (b) are in fashion
(c) absorb heat from the atmosphere (d) release heat in the atmosphere

ENGLISH (20 Marks)

Q21. Read the sentence carefully and choose the uncountable noun from the options given below:-
He spent all his money, while shopping.
(@) all (b) spent (c) money (d) while

Q22. Identify the neuter gender from the options given below:-
(@) qirl (b) computer (c) boy (d) children
Q23. Replace the underlined noun with pronoun and choose the correct option:-

Mr. Smith has a black fur coat. The coat is made of real fur.

(@) Its (b) she (o1t (d) It’s
Q24. Complete the given sentence with suitable pronoun.

Have seen my book?

(@) you (b) she (c) he (d) it
Q25. Choose correct verb to fill in the blank:-

Daisy her work on time.

@) is (b) was (c) does (d) will
Q26. A duck quacks and a kangaroo .

(@) groan (b) bleat (c) chatter (d) chortle
Q27. Choose the word which is not an adjective:-

(a) timid (b) huge (c) wild (d) bravery
Q28. Choose correct form of degree to fill in the blank:-

I can't carry your bag. It is than mine.

(@) heavyer (b) heavyier (c) heavier (d) hevier
Q29. Choose the option with the adverb that refers to sound:-

(@) The dog ate quickly. (b) Cats meow a lot.

(c) Ram ran quickly (d) The children sat in the class sincerely.

Q30. Choose the option with the preposition of place:-

(a) I forgot to wish you your birthday. (b) Two seats were reserved for us.

(c) I’ll meet you at the airport. (d) We were served food with soft drinks.
Q31. Choose the option with the incorrect use of article:-

(a) Fruits are in an basket. (b) We live in an expensive home.

(b) I ate an apple in the morning. (d) Getan umbrella, it is raining outside.

Q32. Choose the correct article to fill in the blank:-
I found one rupee coin on the road.
(@) an (b) a (c) the (d) bothaand b




Q33. Choose the sentence which is written correctly:-

(@) What will you write in your test.

(b) what will you write in your test?

(c) What will you write in your test!

(d) What will you write in your test?
Q34. Which of the following is not used to end a sentence?

@ . (b) ! © 7 (d,
Q35. Choose the correct synonym of the word ‘slim’:-

(@) rich (b) risky (c) kind (d) slender
Q36. Choose the correct antonym for the underlined word in the given sentence:-

He went very far to see the insect.

(a) farther (b) further (c) near (d) nearer
Q37. Choose the odd one out from cinema, theatre, stage, pool, hall:-

(@) theatre (b) pool (c) hall (d) cinema
Q38. Choose the option with incorrect spelling:-

(@) lemon (b) rainbou (c) knife (d) restaurant
Q39. Choose the correct preposition to fill in the blank:-

He is sitting Ravi.

(a) aside (b) beside (c) between (d) among
Q40. Choose the correct spelling from the jumbled letters given below:-

oommreta

(a) teamroom (b) matemoor (c) roomteam (d) roommate

MATHEMATICS (20 Marks)
Q41. Which number can replace the question mark to make the sentence true?
40-?7=24

(@) 38 (b) 24 (c) 19 (d) 16
Q42. 4 hundreds 3 tens 5 ones + 2 hundreds 2 tens 6 ones=

(a) 616 (b) 636 (c) 661 (d) 669
Q43. Select the correct option.

(a) 5+3=2+2+2 (b) 15+5=230-15

(c) 5+5+5+5=30-20 (d) 22-7=20-5
Q44. A tank contained 50 litres of water. Jasmine drained 25 litres of water through a tap from the

tank. How much water is left in the tank?

(@) 25 litres (b) 30 litres (c) 40 litres (d) 50 litres
Q45. Karan had some chocolates. He gave 43 chocolates to his wife and was left with 28 chocolates.

How many chocolates did Karan have in the beginning?
(@) 15 (b) 78 (c) 711 (d) 50




Q46.

Q47.

Q48.

Q49.

Q50.

Q51.

Q52.

Q53.

Q54.

Q55.

Q56.

Q57.

Q58.

What is the time if it is 30 minutes to 12 noon?
(@) 11:30 a.m. (b) 12:26 p.m. (c) 12:15 a.m. (d) 12:30 p.m.

Rajeev earns Rs. 190 per day and spends Rs. 40 per day. How much does he save in three

days?

(@) Rs 100 (b) Rs 450 (c) Rs 300 (d) Rs 240
How many odd numbers are there between 42 and 72?

(@14 (b) 15 (c) 12 (d) 11

Three friends have 18 jelly beans altogether. They want to share the jelly beans equally among
each other. How many jelly beans should each friend get?
(a) 2 (b)3 (c) 4 (d)6

Jed has 8 coins. His sister, Hailey, has twice as many coins as Jed. How many coins do they
have altogether?

(@) 16 (b) 24 (c) 10 (d) 14
How many corners does a circle have?

(@)12 (b) 2 (©1 (d)o

If today is Friday and the date is 7™, which option is 3" Friday in that month?
(a) 20" (b) 22™ (c) 21% (d) 28"

Find the missing numbers in the number pattern: -
1,4,9,16,( ), ()

(a) 25, 36 (b) 24, 30 (c) 24,36 (d) 30, 36
Which one of the following numbers should be subtracted from 67 to get 37?

(@) 30 (b) 37 (c)31 (d) 27
Which among these is an even number?

(@) 22 (b) 23 (c) 55 (d) 61

When arranged in order from the smallest to the biggest, which number will be at the last
position in the sequence?
21,12,79, 63, 36, 47

(@79 (b) 36 (c) 47 (d) 12
The place value of 2 in 425 is
(@2 (b) 20 (c) 200 (d) 22

How many circles are there in the picture?

(@) 5 (b) 6 ©7 (d)8




Q59. The figure given below is made up of 2 triangles and a

(@) Square (b) Circle (c) Rectangle (d) Oval

Q60. A three digit number is 24 more than the three digit smallest number, what will be the digit at
hundreds place?
(a) 2 (b) 3 (c) 5 (d) 1

(Space for rough work)
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